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Topic:- General Knowledge and Logical Knowledge

1) Study the instructions carefully and find the value for the following:
Here;

+ => Multiply
* => Division
/ => Addition
- => Equal to
= =>Minus /

frd=n o1 ArauTiyde sremaq w3 ok fFafafed & fore a9 @i
g,

+ => TuT

* => YW

/ => Rl

- => & TR

==>Ycld

(18/2=10)*2+4/ 10
1.10
2.28
3.20

4. 30

Correct Answer :-
e 30

2) River that flows in the eastern part of Madhya Pradesh and drains into Bay of Bengal near Orissa

is / &0 USRT $ Udf & & 78 arell A1 ot IS F Uy S b @il # et 3

1. Denwa / é_flaT
(2)



Z. dhipra / IXIHI
3. Chambal / Jdd

4, Mahanadi / Ho "'IEn

Correct Answer :-

« Mahanadi / FgTd]

3) Provision of ‘Employment to All' comes under / PN AR BT WWE‘\‘I%? 3efi 3rmar @
1. Directive Principles of State Policy / X & ifd Féze a@

2. Industrial Policy / 3N ifd

3. Fundamental Rights / HHd PR

4. Labour Laws / 9 Tadt CaGG!

Correct Answer :-

« Directive Principles of State Policy / XIsd & Hifa e da

4) Which among the following rivers flows into the Bay of Bengal? / IBE] m T 9 G|

ST I Wi § 9gdl 82
1. Narmada / :Iﬁa'l
2. Netravati / EEC]

3. Brahmaputra / S&T4A
4. None of these / 3TH 9 &I gl

Correct Answer :-

 Brahmaputra / SeTdA

5) Which glacier is the source of the Brahmaputra river? / ﬁqw%mrc{ Wqﬁ Wﬁ.ﬁ'%’
1. Gangotri Glacier / IE]] %IF'R‘Z

2. Siachen Glacier / Rrarf= %IH_C‘Z

3. Angsi Glacier / 3Tt fewig

4, Kafni Glacier / BB %W

Correct Answer :-

e Angsi Glacier / SR i



©) Which o1 the 1ollowing 1S the mausoleum o1 Viuhammad Adil Shah ot the Adil Shahi dynasty? /

= & o1 a1 snfea =Tt 9%1 & Higwg S 2T BT HBERT 5?2
1. Juma Masjid / SJHT ARG

2. Gol Gumbaz / Td T[&sl

3. Quiub Minar / e HIFR

4, Taj Mahal / dIS Hgd

Correct Answer :-

« Gol Gumbaz / T T[asl

7) is a widely practised form of folk music in southern Malwa which came through the

Marathas. / , ST ATeraT § U U I MYT-SSI1AT SIHaTaT diediid g, Sl AR1o130 §
BIhT 3T YT

1. Chaiti / It
2. Garba / TIRdT
3. Lavani / @G-t

4, Stobha / TIHT

Correct Answer :-

e Lavani / @Ta-T
8) Panna in Madhya Pradesh is associated with / H Ua'QT ¥ g1 A 9 Iefia %:

1. Mica / HISPT
2. Manganese / EICi]
3. Diamond / @Tl

4. Copper / G|

Correct Answer :-
¢ Diamond / é’RT

9) If KARTIK is coded LCUXNQ, then how is VINAYAKA coded? / If¢ KARTIK @I LCUXNQ o
HIfed fHar 9ITaT 2, a1 VINAYAKA Y S ifed fear s

1. WIQEDQHI
2. WKQECGRI
3. WKQEDGRI

4. WKQFDGRI
(4)



Correct Answer :-
« WKQEDGRI

10) The English East India Company was abolished in the year . / 3t éRg%mm‘—ﬁﬁ
Gl H guTed o o T AT

1. 1856
2. 1858
3. 1857

4. 1860

Correct Answer :-

11) The term of President of India is / HRd & ?quﬁf CakanGaR %
1. S5years/5 GL
2. 4years / 4 CL
3. 3 years/3 ay

4. 7 years / 799

Correct Answer :-

. Syears/Sa'Ef

12) The State which accounts for more than 90 per cent of total rubber production in India is / HIRd

T YT9R & po TG BT 90 Ufa=rd Icure frg g # glar g2
1. Karnataka / H-Ilcdh
2. Tamil Nadu/?‘lﬁ?‘ﬁ'l_g'

3. Andhra Pradesh / 3% UG
4. Kerala / Hd

Correct Answer :-

« Kerala/ ®3d

13) Who was referred to as the “Ambassador of Hindu-Muslim Unity” by Sarojini Naidu? / RIS

A1ag A f5d “Rg-gafer Towar &1 eiga” S-1 /™ A1

1. Muhammad Ali Jinnah / FISWIC 37elt foTaT

®)



Z. dhaukat Al1 / Xl QI
3. Abdul Ghaffar Khan / 3feg ¢l TTHLR W
4, Maulana Azad / EGICl] 3l

Correct Answer :-

¢ Muhammad Ali Jinnah / H\IESH-IG R NIASEL

14) Who was the first Indian woman president of Indian National Congress? / ‘m??ﬂ"q?rg’ltr Cap Ll

1 UgW! HRATa Afgar sreme o1 i
1. Vijayalakshmi Pandit / faorgeet ufea
2. Sarojini Naidu / TRISHT A1Gg

3. Nellie Sengupta / et @ﬂ'{[ta'l

4, Annie Besant / Q‘ﬂ éﬁ?

Correct Answer :-

« Sarojini Naidu / RIS ag

15) In a single throw of a fair dice, what is the probability of getting an even number greater than

three? / TP 04 U &1 TP IR B WX, i< & IS U TH =T YT g4 D1 T UTRIPpdT 82

1

3
L.

b | — o |

L |2

Correct Answer :-

16) Find the odd one out / T fqUH JTd Hifoe:
1. Door/ aqal@

(6)



Z. Window / IRGSd|
3. Gate / gIR

4. Table / TN

Correct Answer :-

« Table /B9

17) Find the odd one out: /Wﬁwaﬁrﬁﬁm;
1. In and Out / 3{&X TUT TG

2. Black and White / STcll d4T Jlhg

3. High and Low / ST T =

4, Weapons and Arms / 31¥d d¥T R¥d

Correct Answer :-
« Weapons and Arms / 3¥d dUT ¥l

18) Find the odd combination of letters and numbers from among the following: /ﬁ'ﬁ'ﬁ‘l’@ﬂ'ﬁ '\ﬂ'
&R Td FErel HT fauy S Jrd S|

i. 1293520 ii. 1293502 iii. 1293520 iv. 1293520

19) In a certain code language, | am hungry means Ching Ling Lu; | eat fruits means Ling Li Mon; | am
thirsty means Lu Su Ling. Which is the word for Am in that code language? / Tdh W CACKIIL I ﬁ, lam
hungry T 3l o Ching Ling Lu; I eat fruits BT 31 f Ling Li Mon dYUT I am thirsty BT 3% Lu su Ling Eﬂ?IT %I
TY BIS U H Am P fore 5 wrse &1 gxawTe fpam mar 82

1. Ling
2. Ching
3. Li

4. Lu

Correct Answer :-

(")



20) In a certain code language, ise sep vaz means drink hot coffee, ezy vaz kam means hot air balloon,
seg ezy poz means blow cold air. Which is the word for balloon in that code language? / Tdh W BIS
HTYT ﬁ, ise sep vaz PT 3 o drink hot coffee; ezy vaz kam BT 3 ¥ hot air balloon TUT seq ezy poz BT A ]

blow cold air BT & | T HIS HTUT | balloon P ToIE {5 Treg BT STaHTS fvam T 22

1. kam
2. poz
3. sep

4. ezy

Correct Answer :-
e kam

21) If THIRST is coded UIJSTU, then how is LAMENT coded? / Tf& THIRST @Y unsTu @ Sifed far

SITdT 8, 1 LAMENT Y $ Sifsd fear smam?
1. SMDLZK
2. KZLDMS
3. MANTLE

4. MBNFOU

Correct Answer :-
« MBNFOU

22) If DUTCH is coded BTTDJ, then how is CROWN coded? / Af¢ puTcH &1 BTTD & Pifed fmar sirar

8, df crown Y A Fifsa far e
1, AQOXP
2. AQOYP
3. APOXP

4. AQPXP

Correct Answer :-

23) was honoured with the Best Actor Award at the 64" National Film Awards in 2017? /2017 'Ef

543'@%@13?@@'1? BT FAAY SATHAT REPR A FwAT fobar mam o

8)



1. Anil Kapoor / 311-1Q oYX
2. Manoj Joshi /Wﬁﬁi‘lﬁ
3. Aamir Khan / TR &
4. Akshay Kumar / 3&d HHR

Correct Answer :-

 Akshay Kumar / 3f&d HHR

24) Complete the series choosing the missing letter/s: / T H&R/MERT BT TTDHT YT B T DHOIC:
AZ,CX,EV,GT,

1. IR

2. QK

3. 0P

4. MN

Correct Answer :-

25) Complete the series choosing the missing number: / &l H&HT AP Yl G| T Hﬂﬁm:
3,7,7,13,11,19,15,

1. 29

2.25

3.23

4. 30

Correct Answer :-

26) Famous male Hindi play back singer, music composer, actor and lyrist born in
Khandwa was / @Usal # o= URrg g2 o i<t umavmaes, aer, Wifaer, sifdmer, ek
dumares o

1. Varsha Verman / auf qqi
2. Deepak Chusala / e ATl
3. Salim Khan / 9eiid QM

4. Kishore Kumar / f&=IR PHR
©)



Correct Answer :-

« Kishore Kumar / f&=IR PHR

27) Annie Besant belonged to the / Fﬁ a'\ﬁ?_ J Fafia o
1. Arya Samaj / 3T AT

2. Prarthana Samaj / QT?-&ITW

3. Ghadar Party / TTaX arcf

4. Theosophical Society / RN ed ITse!

Correct Answer :-

« Theosophical Society / Rt @ﬂﬁ_&

28) CANCELLED

Complete the series choosing the missing number: / &I TS oD Yell Ca| Ul PIfoTC:
2,5,8,11,14,17,

1.25

2.24

3.36

4,32

Correct Answer :

29) CANCELLED

The Omkareshwar multipurpose project is located at / SNPRIAR aga'%szﬁtr TSR] ‘CIB\T'W e

1. Vidisha / aléQII
2. Sidhi / et

3. Dhar/ YR

4, Indore / 37.%?

Correct Answer :-

e Indore/ E_C?R



5U) AS per census 2U11, the most aensely populated Union 1€erritory In 1ndia Is / 2ZUll @i

SIUMAT & SR, YR W Haifie g STardt arar F= iRid e 8:
1. Lakshadweep / TI&TgT

2. Pondicherry / g1

3. NCT of Delhi / ST ITeTT & faeeit

4. sikkim / RfapH

Correct Answer :-

« NCT of Delhi / TS IrSTeTT &3 faeett

31) The series given below contains a sequence of numbers. Identify the incorrect combination: / BiE] T:ﬁ

T3 e §, Tl $1 U H IR &1 T At Ugan-e:

1,8,3,6,5,4,6
1.6
2.3
3.8

4.4

Correct Answer :-

32) Harshavardhana was defeatedby /8WadH__ gRTWRIfSra T A
1. Taila IT / €T 11

2. Jayasingha / SR

3. Pulakesin I/ W@H |

4, Pulakesin II / W I

Correct Answer :-

o Pulakesin II / Hﬂﬁ? 11

33) The first Indian to be elected as the President of UN General Assembly was /

TG MY TETHHT & T4 & FU | g & d1d Uged HRAF &
1. S. Radhakrishnan / THXTUTH
2. Acharya Kripalani / 3w m

(11)



3. V.K. Krisnna Menon / dl.ae.@p ™| {4+

4, Vijayalakshmi Pandit / fasraae dfea

Correct Answer :-

« Vijayalakshmi Pandit / facraaer! dfgd

34) In the following list of numerals,
7897653428972459297647
Which figures have an equal frequency? /

3l ot fa g F,
7897653428972459297647
=1 ol Pt arrgfy TuT 82
1.3,7,5

2.8,6,5

3.2,4,5

4.2,5,3

Correct Answer :-

e 86,5
35) Article 368 of the Indian Constitution deals with . | YR TiAe™ &1 3rgsse
368 ¥ Hafia 7l

1. Emergency provisions / SMATAHI WA

2. Amending Procedure / TNy ufrar

3. Right to primary Education / UTIH® fR1&T &7 ffUHR
4. Right to Information / =T I HDHR

Correct Answer :-

» Amending Procedure / TR i

36) Select the option that is true about the Statements and Conclusions given:

Statements:
Some dopes are bricks
No trucks are dopes

Conclusions:
I. No bricks are dopes
I1. Some trucks are dopes



/S 19D Y D1 YYT DRIVIY STHD 1GY 1S DU S 1115P Y] D dIX H G 6
DY

POTULET

a3 WP Su-Ei e

s

I 515 WEe S

IS THSIUT

1. neither conclusion I nor conclusion II follows / 7 & F5HY I 3R 71 &1 fsHY 11 STFAR FRA &
2. both conclusion I and II follows / FI&pY 1 3R 11 Tl ST Hd %

3. only conclusion II follows / $Had Fepy 11 ST GERG I

4. only conclusion I follows / Had 5 | ST IRAT S

Correct Answer :-
« neither conclusion I nor conclusion II follows / 7T &1 T5HY I 3R 71 1 FISHY 11 3TTRUI el &

37) Select the option that is true about the Statements and Conclusions given:

Statements:
All garments are towels
No towel is a shirt

Conclusions:
I. No garments are shirts
I1. Some shirts are garments

/39 faoed &1 a9+ P Sifes f T8 HuU=1 ok el & I # 981 8:

FY:

Tt ava difere §

HIS diferar HHter T 7

o

1. PIS aed B AL 3

II. TB HHIS a5 &

1. neither conclusion I nor conclusion II follows / 7 &1 FEhY I 3R =1 g1 5B 11 SI¥RUI vd &

2. both conclusion I and II follows / F755Y 1 3R 11 g STTRTI P %
3. only conclusion II follows / HId fSHY 11 ST Hal &
4. only conclusion I follows / Had fHY 1 S{IIRVI HRAT §

Correct Answer :-

(13)



e only conclusion 1 Tollows / @ QQ] [P Y | SIYRVI PRAl §

38) Select the option that is true about the Statements and Conclusions given:

Statements:
Some tables are chairs
Some tables are cots

Conclusions:
I. Some chairs are cots
II. All tables are either chairs or cots

/ 39 faweu &1 994 SR Sife fow 1T Hy=i Sk et & ok & w8l &:

FY:

O AW PRIATE

PO AT @Ie

e

1. 39 PRI @ §

11 9+t B a7 ot HRiaT § a1 @ §

1. neither conclusion I nor conclusion II follows /= Bl & I 3R =1 g1 Feh e 11 3FIARUT Rl §

2. both conclusion I and II follows /ﬁ'ﬁﬁﬁh AR I QH\I. SR BHId %
3. only conclusion II follows / A fhY 1T STIR0T Bl §
4. only conclusion I follows / $Had [pY 1 S{THT FRAT

Correct Answer :-
« neither conclusion I nor conclusion II follows / 7 & F5HY 1 3R 71 & fswe 11 IR FRA &

39) Select the option that is true about the Statements and Conclusions given:

Statements:
All insects are ants
All ants are bears

Conclusions:
I. No bear is an insect
I1. Some bears are ants /

39 fwey o1 999 IR wife Y 18 FyA! 3k Fropaf & ar & w8 &
BY:

it Fie fifegi §

gaft <fifear urg &

forepd:

(14)



L. @IS HIQ PIC 1G] &

II. $© HTq difear §

1. neither conclusion I nor conclusion II follows / =1 81 ftwd 1 31R 71 8t fAswef 11 S{FEUT A G
2. both conclusion I and II follows / ﬁ'ﬂv_ﬁfl G?R II Ea:ﬁ STHRT] W %’

3. only conclusion II follows / I FT5BY 11 S{FERT FRAT S

4. only conclusion I follows / Had fspY 1 ST pdl %

Correct Answer :-

« only conclusion II follows / ad (Y 11 SR BT §

40) Complete the series choosing the missing number: / &l HEIT AR m 3 T aﬂﬁrq:
6,12,20,30,

1. 50

2.40

3.46

4. 42

Correct Answer :-

Topic:- Mental Ability and Mental Aptitude

1) I the sequence shown below, which figure comes next? / A=l

T3 90 ®H H, HIE HHA Hi= ° FRED

rals" R
i

i 1 ul

(15)



P
b Ru_{__:’
h"-x..__r =

2) [fthe following two squares shown below overlap, which one of

the following options is formed? {3Te Fa er adr AfTeaaa
BT & o o= # & &iF °7 v AeeT a9 &7

[y

| A8
—
|
L T ‘
L J
b * K
- ==
< &
¥ W
1.
_(dl- L 4
£ 4
4 '
L ¥
2.

(16)



F
e ——
- P
L J T
[ *
L
= ]
|
-+ -
. {
L 4 L J

In the sequence shown below, which figure comes next? /==

R R §

Correct Answer :-

el

4) Two pipes can fill a tank in 5 hrs and 20 hrs, respectively. A third pipe can empty the tank in 10
hrs. If all the three pipes are opened simultaneously, then, how long will it take for the tank to get

W)



nued? / Ql 4IQU K@ CP P PHXI: D YC GIX 2ZU UYC H HX APA B 1 KD AINIR] HI{QH QX1 CP P 1V ™C

H WTell B Wb g | afe FIHY urgy vwHty Wi fou 9, oY ¢ wRA ® fran wwy wim?
1. 6 hrs 40 min / 6 B¢ 40 A,
2. 4 hrs 20 min / 4 °¢ 20 {1,
3. 4 hrs 30 min / 4 ©¢ 30 {1,

4. 5 hrs 20 min / 5 °¢ 20 A,

Correct Answer :-

e 6hrs 40 min/ 6 ©¢ 40 .

5) Amita is a mother of four children. If all her children were born in consecutive leap years and if
the average of all the four children was 10 years, then find the age of the eldest child? / ST 4 g1
P TR Afe ITF IRI T2 AR oty qul & U1 gu § ok Iud ot o= @) siwd omyg 10 99
2, O IR T2 9= 9 g fhai &2

1. 14 years / 14 99
2. 15 years / 1599
3. 12 years / 12 99

4. 16 years / 16 T

Correct Answer :-

e 16 years/ 16 Gl

6) A man is standing on a railway platform, which is 180 m long. If he finds that a train crosses the
platform in 20 sec, but crosses him in 8 sec, what is the length of the train? /WWW 180 HY.
T ¥ WEWiH IR TST 71 98 ¢9dl § [ Th IS Wewid o1 20 8. # iR 3H 8 /. A UR
Pl B, df e B TS fPadl 82

1. 80'm / SOHT.
2. 100 m / 1004,
3. 150 m / 15041

4. 120 m / 1204,

Correct Answer :-
e 120 m/ 12091,

7) 7 students can finish 7 projects in 7 days. How much time would 1 student take to finish 1 project?

1 <ara faemeff 7 mioiee @) 7 fa o @R v €1 1 Wiolee &) 1 faen<ff fpam wwa & e
1. 1day/1 e

(18)



Z. 14 days/ 14 1
3. 12 days/ 12 f&A

4.7 days /7 f&

Correct Answer :-

« 7days/7feA

8) Sita and Gita have their ages in the ratio of 3:2. After 5 years, their ages will be in the ratio of 8:7.
Find the present age of Gita. / YT 3fIX a1 H} TG BT 3UT 3:2 B 1 5 T 1S FAD! AT BT
3T 8:7 B oIra & | e &Y adwr omyg faeit 82

1.4
2.2
3. 15

4.8

Correct Answer :-

9) A school operates 11 sections of equal size. Earlier it operated 13 sections but after admitting 4
new students, the administration decided to redistribute the sections. So the number of sections was
reduced but with equal number of students in each section. If each section has 24 students now, what

is the total number of students in the school? /wﬁw 11 Wﬁ”ﬂﬁﬁmmgl dig

T 399 13 fAurT %% fou wira € a1 4 iR 7= & Wa=1 & 1e YR fAUTT & YaIifh2or &1
HIar HRdl ¢ | IRUTHREGS Y Yi® fAUTT ¥ =i &) & G @i g faum @ e ger &
STl 7 1 9fe 3ra v faumt & 24 fendf &, @ faenera # faenfia #t oo W fFa 82

1. 260
2.250
3. 264

4, 134

Correct Answer :-

10) Ifa - 4b =20 and 6b -+ 5a =22, then a - b=? / Gfd a - 4b = 20 3 6b + 5a = 22, @l a - b=?
1. 11
2. 14

3.5

(19)



4. 3V

Correct Answer :-

11) A rectangular park, 70 m x 30 m has two roads, which are 5 m wide, one parallel to its length
and the other to its breadth. How much will it cost to gravel the roads at Rs. 4 per sq m? / 70x 30

HieX $1 |17 918 TP STAATPR UTh § SHS| awTs 3R TSTS & MR 5 Hie il 2 8@
€ T €1 4 T Hier # R A 39w ToRl oM & o feaa Tual $t smazgear gifte

1. Rs. 475 /475 %,
2. Rs. 1,900/ 1900 ¥=.
3. Rs. 1,425/ 1425 %,

4. Rs. 950 /950 %=,

Correct Answer :-
e Rs. 1,900/ 1900 3.

12) A number when divided by the sum of 636 and 364 gives quotient equal to their difference and
remainder as 6. What is the number? / T H&AT I Sd 636 3N 364 P AT fayTiora foeam s %
A YIS NI E 3 SBT3l & SR & aRTaR 3R UG 6 341 8 | TS TS 71 872

1. 272006
2. 27206
3. 1272

4. 12706

Correct Answer :-
e« 272006

13) A cloth merchant, on selling 27 metres of cloth, obtains a profit equal to the selling price of 9
metres of the same cloth. Find his profit percentage. / Uh hUST TYRY 27 Hiex Carec) STHT I
FUS & 9 Wex P faeha Yoa & RIS a1 HATAT 3 | 0 Ufa=ra F1a H9

1. 50%
2. 60%

3. None of the above /Wﬁ | ﬁéﬂiﬁ

4. 40%

Correct Answer :-

e 50%
(20)



14) A patsman makes a score of 80 runs in the 15t inning and thus increases his average by 4. Find

his average after 15 inning./@Wﬁ'ﬂT 158t U} # 80 ¥ TM | IS 31d 4 3P d¢
ST ¢ 1 158 URY 3 16 SHST 3 ¥d J1d $Y |

1. 42
2.24
3. 136

4. 112

Correct Answer :-
o 24

15) In a school, 40 % of students are boys. If the total number of students in the school is 960, find

out the number of girl students in the class? / Th e ® 40% asﬁ? % ﬂﬁm ﬁ'ﬁﬁm
P Pl GBI 960 ¢ Y fermera & wsiHal B Jem fhai 82

1. 728
2.478
3. 400

4. 576

Correct Answer :-

« 576

16) A can do a work in 15 days and B can do the work in 10 days. How many days will take to
complete the work, if they do simultaneously? / A fodt s o1 15 T URT pdl % qUT B St
& P 10 o7t ¥ 1 Hwar 81 afe 3 S TH Tty ST B3 al S fraq fea # uRT 8 s

1.6 days / 6 fa1
2. 8 days /8 fa
3.9 days /9 fa

4,5 days /5 e

Correct Answer :-

« 6days/6fad

17) Lila and Kumud are older than Rashid and Nalin. Yash is younger than Rashid, but older than
Nalin. Mukul is younger than Lila, but older than Kumud. Arrange the group in increasing order of

@



age. / CCH SR PHG, RIXIG SHIR AICTA H A 1 U, X1XIG ¥ DIC] § CHPA I A1 A4S &1 P,

oiie @ Sier & AP $Ue I 8T 81 59 THE & 934! 41 Mg & HH # qafyd S|
1. Nalin, Mukul, Rashid, Kumud, Yash, Lila / 7{e, G, RS, $HG, I, el
2. Nalin, Yash, Rashid, Kumud, Mukul, Lila / :Iﬁ'l:f, Y, QT&I—Q’, PHa, P, NN
3. Lila, Mukul, Kumud, Rashid, Yash, Nalin / &1'cll, §&d, $He, JRG, I, A
4. Lila, Yash, Kumud, Rashid, Mukul, Nalin / STelT, I, g, e, G, e

Correct Answer :-
« Nalin, Yash, Rashid, Kumud, Mukul, Lila / Ffei, 21, RIS, $Y<, Yoo, Aial

18) The average price of 3 items is Rs. 300. If their prices are in the ratio 3 : 5 : 7; find the price of
the costliest item. / ST XIS BT ST Ted 300 . B 1 AT ITP Yed HT 3AJUIT3: 5: 7 I,
I8 T YEIHT a3q BT Ted J1d Be |

1. 100
2.75
3. 140

4. 60

Correct Answer :-
o 140

19) The average monthly expenditure of a family during the first 6 months is Rs.51,000 and the
average monthly during the last 6 months of the year is Rs.45,000. Find the average monthly

expenditure of the family for the whole year? / Y URaR &7 itd @d a¥ & USd 6 HBIH H 51000
. 3R 3R 6 7RI 45000 3=. 31 39 URAR gRT Tl 9 F7 Sivra @ foram gl

1. Rs.47,000 /47,000 ¥=.
2. Rs.47,500/ 47,500 %=.
3. Rs.48,000 / 48,000 3=.

4. Rs.49,000 / 49,000 ¥=.

Correct Answer :-
e Rs.48,000 /48,000 ¥=.

20) A watch was bought for Rs. 530 and sold at 4% gain. Find its selling price. / T ﬂ:‘ﬁ 530 % H

TRIGHR 4% ATH W 99 & T | ST fapa Tea Farei|
1. Rs. 551.20/ 551.20 &,

2. Rs. 451.20/451.20 ¥=.
(22)



3. None ot the above / 3HYatl H d PIQ 161

4. Rs. 351.20/351.20 ¥.

Correct Answer :-

e Rs.551.20/551.20¥.

21) The cost of an article is Rs. 9,180 after getting 15 % discount. What is the original price in

rupees? / ol TG BT T 15% P Fe & T18 9180 7. T1 FUA N TS IRATGS Yoo FT 82
1. Rs. 10,800 / 10,300 ¥,
2. Rs. 10,900 / 10,900 .
3. Rs. 10,700 / 10,700 .

4. Rs. 10,850/ 10, 850 X=.

Correct Answer :-
e Rs. 10,800/ 10,300 3.

22) Ram gives Rs. 10,000 to his son Shyam, and asks him to distribute Rs. 3,425 each among his two
sisters. How much money is left with Shyam? / TH J 3= RERUIL] G| 10,000 IUY THT SN Tﬁ:ﬁ'
DI 3425 BT ¢ B BT A & UTH foba . 912

1. Rs. 3,250/ 3250 3.
2. Rs. 3,200 / 3200 F.
3. Rs. 3,050 / 3050 .

4. Rs. 3,150 /3150 ¥=.

Correct Answer :-
e Rs.3,150/3150 3.

23) Twelve women can complete a piece of work by working 10 hrs a day for 20 days. How many
days of 15 hrs each would 16 men require to complete the same task, if 4 women do as much work as

3 men? / T 3R UfATET 10 9 1 H forsdt B0 &Y 20 37 A R w2 QA 1 af 4 aiizd 3
&naﬁlﬁ%wmm?ﬁ%;a‘rm Tt I B BI ufafe 15 69 FH PRSP foa G &
TRT H IRTA?

1. 8.5 days /8.5 fa=1
2.7.5 days /7.5 T
3. 12.5 days / 12.5 fa

4,10 days / 10 fa

Correct Answer :-
(23)



e /O days/ /.51

24) Two numbers are in the ratio 7 : 8. If 3 is added to each of the two numbers and their
ratio becomes 8 : 9; the numbers are: / &I HEIT3{l HT U 7:8 31 T 37 I GBS & 3
vﬁs%maﬁra’rs-—mamms 9 g SITdT §, WA gift:

1.16, 18
2. 14,16
3.21,24

4.24,27

Correct Answer :-

25) Which one of the following four addresses is NOT EXACTLY same as the one given

below? / 719 f3d T IR ual & A -1 23 A Ud & S T9= S A1 TP 8] 82

Ken Burns,
Poligono Clot de Moja,
C/Ull de Llebre No. 7

08734 Olérdola, (Moja), Barcelona, Spain

(i) Ken Burns,
Poligono Clot de Moja,
C/Ull de Llebre No. 7

08734 Olérdola, (Moja), Barcelona, Spain

(ii) Ken Burns,
Poligono Clot de Moja,
C/Ull de Llebre No. 7

08734 Olérdola, (Moja), Barcelona, Spain

(iii) Ken Burns,
Poligono Clot de Moja,
C/Ull de Llebre No. 7

08734 Olérdola, (Moja), Barcelona, Spain
(24)



(iv) Ken Burns,

Pollgono Clot de Moja,

C/Ull de Llebre No. 7

08734 Olérdola, (Moja), Barcelona, Spain
1. iv

2.1

3.1

4. iii

Correct Answer :-

26) CANCELLED

Find the average. / 3NTd [ B
65, 66, 67,68, 67 & 7

1. 67

2.58

3. 68

4. 64

Correct Answer :-

27) If 10% of X = 20% of Y, then X:Y = ? / Tf& X BT 10% = Y BT 20%, a9 X:Y =2
1.3:2
2.2:3
3.1:2

4,2:1

Correct Answer :-

28) If the product of two numbers is 120 and the sum of their squares is 289, then the

sum of the numbers will be: / Elﬁ' a’f '\Ei@TGﬁH'Tr'{IUH'W 120 % 3R I% T BT TIT 289 %,
(25)



Al S [ IS P 4 §HILE
1. 40
2.23
3.26

4. 35

Correct Answer :-
e 23

29) In 1985, the profit for a certain product was 25 %. In the next 3 years, the cost price
increases by 10 %, 10 %, and 20 %:; also the sales price increases by 15 %, 10 %, and 20
%. What is the profit percentage now? (Approximately) / 1985 T, T IIG UR a1 25%
21 3FTa i auf #, afe arTa Ieu & 10%,10% 3R 20% F g gl & i fasra geu # oft
15%, 10% 3fR 20% & g gt 8 1 9= A ATH BT Ufa=id o1 82 (FTHT)

1.27.3 %
2.324%
3.357%

4.30.7 %

Correct Answer :-

e 30.7 %

30) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: / <l &} 7§ gae , &Ry 3k W@ &1 v % FHfgd &1 Taa Gaw- ygare:

i. tranil209itnar
ii. tranil509itnar
iii. trani1209itnar

iv. trani1209itnar

4. iii

Correct Answer :-



Topic:- Science and Simple Arithmetic

1)
T +4 = 5ht+3 T4 - 5Hnt+a
X3 2 X3
The value of TosmtE w oo f oS+ 3 5 g2m FT HAT ol &

1.0

2.2

3.10

4.1

Correct Answer :-

AB is a chord of a circle with center at O and BOC is a diameter. [fOD L AB such that DD =
fem, then AC = .fAB:%EOWWﬁm?ﬁTEOCW'@W%IEﬁDDL

ABUH & F OD=69d STAC=_
1. 12cm
2. 15cm
3. 18cm

4, 6cm

Correct Answer :-

e 12cm

T
i

Find the value of "X’ satisfving the equation

W | &
I

= =T WA D4 = T=T @ HIE

1.24
2.10
3.12

4.7

Correct Answer :-

(27)



4)
Inthe given figure, straight lines AB and CD are intersected at 0.

If 2AOC + 2BOD = 130°, then ZAOD = .t few 7w A &, el @ AB R CD fig
O 97 yigealed wiar &1 9/ 2ADC +2BOD =130°. ar 2AOD = )

D-
Ko g
" 0
.~“"Fn'-ﬁ'
i o -
c - B,

c

1.65
2. 125
3. 105

4.115

Correct Answer :-

5)
((24% + 73j§)3=
1. 125
2. 15625
3. 625
4. 3125

Correct Answer :-

¢ 15625

6) Deforestation leads to:/ EF-ﬁﬁET-[ gt g
1. Increase in oxygen / it o Q’@

2. Increase in carbon dioxide / GAGE SIRATHRS H dl

(28)



3. Increase 1n nitrogen / IQCINI H gl&

4, Decrease in carbon dioxide / PHIe SIESICSIES) o HHt

Correct Answer :-

¢ Increase in carbon dioxide / CACE| SIESIESIES ﬁg@

7) A paper is in the form of a rectangle ABCD in which AB =20cm and BC = 14cm. A
semicircular portion with BC as diameter is cut-off. The area of the remaining portion is: /
TS BITST, b 319d ABCD & &0 & § i AB = 20 9. U1 BC = 14 9. 31 th o & &0
F BC 979 U SIST@TSTR U HTeT SITal & 1 T YT BT Qe e &

1. 280cm?
2. 203cm?
3. 77cm?

4, 283cm?

Correct Answer :-

« 203cm?

8) Vinu gave a loan of Rs. 200 to Harish and recovered it at the rate of Rs. 14 per month for

twenty months. The rate of simple interest charged is: / ?ﬂaﬁ TR BT 200 %. BT HUT am 3R
Y 20 UG 916 14 %. Ul UT8 &1 53 W 91Uy forar | a¥gelt 78 ATR0T STl o f 3:

1. 24%
2.26%
3. 16%

4. 12%

Correct Answer :-

« 24%

9) If y% of 61 + 81% of 61 = 61% of 90, then y will be: / TS 61 BT y% + 61 BT 81%, 90 BT
61% &, d y &1 A= f g

1.32
2.72
3.9

4. 15

(29)



Correct Answer :-

10) If two adjacent angles of a parallelogram are equal, what is the measure of each of the

angles? / 9fe T JHIGR AU & &I 3= HI0T SRR &, T U HIUT BT AT T SN2

1.120°

c

2.90

o

3.45

c

4, 60

Correct Answer :-

o

* 90

11) The smallest number by which 28812 must be divided so that the quotient becomes a

perfect square is ./ 9% BId] ¥ Bl §.M 2 o 28812 P AU A R
YRTHd YUf TST 8 ST 3

1.3
2.49
3. 14

4.2

Correct Answer :-

12) What must be subtracted from 14x> — 5x2 + 9x — 1 so that the resulting polynomial is
exactly divisible by 2x — 1? / 14x3 — 5x2 + 9x — 1 & & fora=11 gerar ¢ f& ufkomd agug 2x - 19
gl &0 ¥ faurfora g1 sime?

1.1
2.4
3.1

4, -4

Correct Answer :-



13) What is the probability that a number selected trom the numbers 1, 2, 3,...... ,151isa

multiple of 4? / GBAT3A 1, 2, 3,......, 15 F Tl ST ATl TH BT & 4 BT UMD 811 St UHAHT
FTe?
1.
1
15
2.
1
3.
i
15
4,

Correct Answer :-

1

5
14) A fine layer of gold deposited on silver ornaments is called . T:l'l'cﬁ & TIET-ﬁ' TR STHT 99
P TP Udell IRd B HEISAI g
1. sterling silver / ¥ ?‘T‘I ?ﬂ_qpf

2. silver plated / I5d Hisd
3. rhodium plated /ATSTH id
4. gold plated / of At

Correct Answer :-

« gold plated / i Aftd

15) Fruit juices turn bitter if exposed to open because: / Wdl & g Qﬁ' AR ﬁa MG %
Fif:

. e N g
1. Enzymes are present in them / 3TH U-IIgH HIv[q Eﬁ?f %’I

2. Oxidation of juice at room temperature takes place / HHR & ATTH TR I BT TGHem ] E’;Ial %I
3. Micro-organisms are present in air / gdl | J&H Sitg Sufkud aﬁ %I
4, Fermentation takes place by yeast cells / %Ua:[, @jﬂ?m&ﬁm@?ﬂ%l

Correct Answer :-

31)



* Fermentation takes place by yeast cells / [ VA, QHIR PIKXIP |31 IXI GICl §

16) The shape of the orbit in which a comet revolves around the sun is: / PET Cd | Gfl'fp—ﬁ'f forad

YWy G4 F IR SR gHaT 8, giell &:
1. Circular / GTHR

2. Semi-circular / 3G-JAIPR

3. Parabolic / TRITRIH

4. Highly elliptical / 3% 0 Y GIUgaidR

Correct Answer :-

« Highly elliptical / 3 &0 I GIUIaiBR

17) A magnetic compass needle placed near a current carrying wire shows a deflection. The effect of

electric current demonstrated here is: / 4RT WaTgd I+ aTel AR & e @t §'§ ﬂ'ﬁﬂ’ﬂ'ﬂ' PHTY
It g3 fagas gxifdt 31 agi welkia fagaa urm1 &1 yuma Fe 8:

1. The chemical effect of electric current / ﬁgqﬂ YR DT IHReh THTT
2. The heating effect of electric current / ﬁ'ggq?r YRT BT ST THTT
3. The magnetic effect of electric current / ﬁ’g{qﬂ YIRT b1 Wﬁ UHIg

4. The mechanical effect of electric current / ﬁl@qﬁ YRT DT FifAD YU

Correct Answer :-

» The magnetic effect of electric current / ﬁg&ﬂ YR DT ﬂﬁﬂﬂ’q YHId

18) A food chain always starts with______. / Tl el ed_ & Y RU B 3
1. nitrogen fixation /:ﬂg_@\_rl:f fRefor

2. photosynthesis / TeRTR] TR

3. decay / &4

4. respiration / XA

Correct Answer :-

« photosynthesis / YBR[ BRI

19) Which one of the following statements is INCORRECT? / fEadasaan Th DY Tadd %?

1. Husk of coconut is made of sclerenchyma tissues. | AT BT fyaap] ‘Eq‘;\IdOP doddﬁ@[ﬂ@?ﬂ%l
2. Xylem and phloem are forms of complex tissues. /aﬁaﬁaanuai@a%a APl @fﬁﬁ%ﬁé%l

(32)



3. Collenchyma gives tlexibility to plants. / XCYIAD YiYl @1 AYICUYA HAGIT PXAl &G

4, Cells of cork contain a chemical called lignin. /ﬁﬁaﬁﬁm&hﬁwméﬁ@f NP Dl Sldl
gl

Correct Answer :-

s Cells of cork contain a chemical called lignin. /ﬁﬁﬁﬁmﬁrf{wm%%@r NIPE) Dl SIdl
gl

20) Name the group of animals which have haemocoel. /tﬂ{[&ﬁ & 3 HHE DI A1 garsy forad
TEIET gl §

1. Amphibians /Qmﬁﬁ'q:f

2. Pisces / H
3. Arthropods and Mollusca / WW@W
4. Annelids / q:ilalg

Correct Answer :-

« Arthropods and Mollusca / WW@W

21) Rabies is caused by the bite of___. /WT;T _% PTed & BRUT Bﬁ?ﬂ %I
1. dog only/ﬁl'l:%ﬁ

2. monkey onIy/ﬁT—%W

3. cat only /ﬁﬂ%w

4, All the above /Bﬂgﬂﬂﬂlﬂ
Correct Answer :-

¢ All the above /quaﬁﬂﬂ-ﬁ

22) A shiny brown-coloured element ‘X’ on heating in air becomes black in colour. Name
the element ‘X’ and the black coloured compound formed. / a1 # T& TUHER Y 3 BT
T X’ T 81 WR T H H1a1 81 St g1 9ed X Y7 i 89 ard wra 3 & 9 &1 99 4and|

1. X’ is copper (Cu) and the black-coloured compound formed is copper(l) oxide (Cu,0). / ‘X’ PIR (Cu) %H?-IT

A 1 31 &1 A BIOR(1) UTRITSS (Cu,0) B

2. ‘X’ is copper (Cu) and the black-coloured compound formed is copper(ll) oxide (CuQ). / ‘X’ PHIIT (Cu) %H?ﬂ
At et 1 o1 A SIaR(1) SHTETSS (Cuo) B

3. ‘X’ is silver (Ag) and the black-coloured compound formed is silver oxide (AgO). / ‘X’ ET\IJEFT (Ag) % qur fAffa
B T T D RYea eSS (Ag0) B

4, ‘X' is iron (Fe) and the black-coloured compound formed is ferrous oxide (FeO). / ‘X’ ?ﬁ’s’ (Fe) %H?ﬂﬁﬁl‘ﬁ
BT T BT AN Ty SFAISS (FeO) B
(33)



Correct Answer :-

o ‘X’ is copper (Cu) and the black-coloured compound formed is copper(ll) oxide (CuO). / ‘X’ PR (Cu) %ﬁ?ﬂ

fAftfa &1 31 31 A1 BRI ATRES (Cuo) B

23) CANCELLED

If x +yv=>5 and xy = 6, then the value Df% + iﬂ will be:/ afg x + y=5ddTxy
X =

1 1 ]
=6,?—|”f;+3;$r:n?rﬁmg’l?rr.

13
26

W | =

b e
1N ]

1)}

]

Correct Answer :-

24) It is easier to carry a suitcase by: / T®H ﬁEﬁTH Cal Qﬁ o ST ST é?IT ?:
1. Carrying it on head / RR R A TR

2. Holding it in hand / BTY " Jh Sh

3. having rollers fixed on to it / 3 UX Ao FRR

4. Dragging it along the ground / S W gie dR

Correct Answer :-

(34)



e having rollers f1xed on to 1t/ 3 YX XICIT [XYX PP

25) Look at the following numbers below:

(i)—-(85)% (ii) (-85)3 (iii)—(85)% (iv)=(-85)%

Which of the above number(s) is/are greater than 0? / = =3l 31 ¢u:
(i)—(85)°® (ii) (-85)%¢ (iii)—(85)5% (iv)=(-85)%°

SRIT A A B H Fen/Femy, 0 A 7 /8

1. Only (iv)/%ad (iv)

2. Only (ii)/Pad (ii)

3.(i),(ii)and (iv)/(i), (i) 3R (iv)

4, (ii)and (iv)/(ii) 3R (iv)

Correct Answer :-

e Only (ii)/%ad (ii)

26) If radius of a cylinder is doubled, its volume is increased by: / gfe e EREEIRETY] aﬁg-—ﬁw
3t o1, @t 59 SmraH | A geiasd gt

1. 8 times / 8 T[T
2.2 times /2 T[T
3.7 times /7 T

4, 4 times / 4 Tl

Correct Answer :-

o 7 times /7 I

27) Lithosphere consists of . TYAHSE A - IufRyd 'Eﬁﬁ ?I

1. air/dIg

2. land or soil / H{¥ TT qal
3. sky / S{hIRI

4, water bodies / ST BT

Correct Answer :-

* land or soil / {&[ZITHET



438) 1he cells In the root apex and snoot apex are caliled meristematiC pecause: / viS$ XY

3R WRiE M A FIRER favusaias! sgard! § wife:
1. They help in the conduction of water and food. / @ SId 3R IS & UdTeshd H TeTadl &l & |
2. They differentiate into different plant parts. / q fafts el & yrT F 3fa” et %I

3. They support the plant. /3 TTel T YR U™ Hal g
4. They keep on dividing forming new cells. /g =I§ HifRrBraft w1 fAfr B %ﬁ fayrfora giet vga %"l

Correct Answer :-

« They keep on dividing forming new cells. / 3 T3 BRI HT A0 B %‘ﬂ ST Bl &<t €1

29) Which of the following is/are true when water changes into ice? / WWE’@'&WW

g, d Fefafea d s ad@ g2

(i) Its state is changed from liquid to solid / STP! AT 59 A 319 # yRafdd g S &
(ii) It changes smell / I8 7Y dGAdT @

(iii) It does not change taste / Ig TI¢ # URAfdd T8l gidi @

(iv) The change can be reversed / URdd- Schivd &l Thdl 8

1. (i), (iii) and (iv) only / ael (i), (iii) TUT (iv)

2. (ii) and (iii) only / ad (i) T (iii)

3. (i) to (iv) / (i) T (iv)

4, (i) and (i) only / ad (i) YT (ii)

Correct Answer :-

« (i), (iii) and (iv) onIy/W (), (i) AT (iv)

30) Which one of the following organisms undergoes external fertilization? / g Sitgl | 9§ fore

T A ST g 82
1. Cat / forea
2. Frog / Heh

3. Hen / H’ﬁ
4, Goat / SR

Correct Answer :-

. Frog/fiﬁ

(36)



